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ẽ,j1
s2,1

(

cβ µ+ A
e∗
j1,j1 sβ

)

− U
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ẽ,j1
s2,1 + U
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ẽ,j1∗
s2,1 + U
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ẽ,j1∗
s2,1

m2
t

+
c2

W
m2

ej1
h2

t
s4
β s2

W
U
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s1,†
j1 ) =

iδj1,j2 s2β

2 c2
β c2

W
s2

W





c
2
W m

2
ej1

h
2
t s

2
β s

2
W U
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ẽ,j1
s2,1√

2 m2
t

85

C(A
0, G

−, ν̃j1, ẽ
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[SSSS] 2 Higgs – 2 Squarks
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s2
j2 , ũ
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ũ,j1∗
s2,1

m2
t

+
3 c2

W
m2

uj1
h2

t
s2
β s2

W
U
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ũ,j1∗
s2,2

m2
t





64

C(A
0, G

0, ũ
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ũ,j1∗
s2,2

m2
t





66

C(h0, H
0, ũ
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s1,†
j1 ) =

2
√

2 c4
β m2

uj1
CKMj1,j2 h2

t
s2
β U
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s1,†
j1 ) = −

i m2
uj1

CKMj1,j2 h2
t

s2β U
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ẽ,j1
s4,1

m2
t

+
c2

W
mej1

mej2
h2

t
s2
β s2

W
U
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ẽ,j2
s2,2

c2
β m2

t

[SSSS] 4 Squarks

116

C(d̃s1
j1 , d̃

s2,†
j2 , ũ
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